
Bulletin Date:

TTI Model Number: 018 326 007 Starting Serial Number:

 M18 ™ THREADED ROD CUTTER  VERSION A - 

M18 BLTRC
SERVICE PARTS DIAGRAM Mar-20

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 326 007 Starting Serial Number:

 M18 ™ THREADED ROD CUTTER  VERSION A - 

ITEM PART NUMBER PART DESCRIPTION QTY (PCS)

1 660851001 M3 X 16MM SCREW 5

2 - COVER 1

3 635598001 RETAINING RING 1

4 633364001 RETAINING RING 1

5 660414009 M4 X 8MM SCREW 1

6 650092001 GUIDE PLATE 1

7 697006004 LH BOLT 1

9 661474002 M6 X 16MM BOLT 2

12 - BOTTOM DIE 1

13 696865001 CAM 1

14 - TOP DIE 1

15 565059001 GASKET 1

16 696870001 ARM SUPPORT 1

17 635599001 WASHER 1

18 662778003 M16 LH HEX NUT 1

19 662810001 SET SCREW 1

20 - LOGO PLATE 1

21 - RIGHT HANDLE HALVE - SUPPORT 1

22 697159002 M5 ALLEN KEY 1

23 561529001 O-RING 1

24 694641001 SPRING 1

25 - SWITCH TRIGGER 1

26 660380008 M3 X 10MM SCREW 2

27 660438002 M3 X 8MM SCREW 1

44 660385024 M5 X 15MM SCREW 4

46 613438001 5TH PLANET GEAR 1

47 681170001 RETAINING RING 1

48 613768003 CARRIER CAM 1

49 695039002 MAGNET 1

51 662216001 M3 X 12MM SCREW 1

52 650095001 METAL BAFFLE 1

53 696866001 SPRING 1

54 660024030 M4 X 16MM SCREW 8

55 - LEFT HANDLE HALVE - COVER 1

57 658123002 WASHER 1

58 941049473 RATING LABEL 1

M18 BLTRC
SERVICE PARTS LIST Mar-20

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 326 007 Starting Serial Number:

 M18 ™ THREADED ROD CUTTER  VERSION A - 

ITEM PART NUMBER PART DESCRIPTION QTY (PCS)

59 314344001 BLOW MOLDED CARRYING CASE 1

80 204563002 COVER KIT 1

81 208499001 SERVICE KIT,METRIC DIE ASSEMBLY 1

82 204556004 HANDLE HOUSING KIT 1

83 204565002 TRIGGER KIT 1

84 208465002 ELECTRONICS ASSEMBLY 1

85 208466001 ROTOR ASSEMBLY 1

86 208478001 GEARCASE ASSEMBLY 1

87 208477001 REAR GEARCASE ASSEMBLY KIT 1

88 204776003 ARM/ROLLER ASSEMBLY KIT 1

1200 - TYPE J GREASE 1

1201 - TYPE T GREASE 1

M18 BLTRC
SERVICE PARTS LIST Mar-20

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 326 007 Starting Serial Number:

 M18 ™ THREADED ROD CUTTER  VERSION A - 

M18 BLTRC
SERVICE INSTRUCTION Mar-20

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 326 007 Starting Serial Number:

 M18 ™ THREADED ROD CUTTER  VERSION A - 

M18 BLTRC
SERVICE INSTRUCTION Mar-20

www.milwaukeetool.asia


	Sheet1

